Bidresults

Revised

Due to non responsive action the Apparent Low bidder offer was rejected!

W912P8-08-B-0038

Flood Control, Mississippi River and Tributaries Indefinite Delivery-Indefinite Quantity Contract 2008 Stone Placement Mississippi, Atchafalaya, and Red Rivers and Old River Control Channels ED 08-076

1.** MERRY TECHNOLOGY INC.	(APP LOW)	(SM)	\$6,774,300.00
2. LUHR BROS. INC		(L)	\$7,998,000.00
3. CHOCTAW TRANSPORTATION CO.	INC.	(L)	\$8,017,300.00

AB	ABSTRACT OF OFFERS - CONSTRUCTION			BSTRACT OF OFFERS - CONSTRUCTION 1. SOLICITATION NUMBER W912P8-08-B-0038			2. DATE ISS 15 Ma	ued y 2008	3. DATE OF 19 Ju	PENED un 2008	PAGE 0F	PAGES		
P.O.	G OFFICE RMY ENGINEERS, DISTRICT NO BOX 60267 ORLEANS, LA 70160-0267			ave opened, read, is abstract all	NAME AND TI	TLE OF CERTIF	L FYING OFFICIAL	_ (TYPE)						
	UNRES		ceived in re	sponse to this	SIGNATURE				DATE SIGNED					
5. PROJE	CT TITLE			ENT ESTIMATE	9. OFFERS									
	ntrol, Mississippi River and Tributa Indefinite Quantity Contract	ries Indefinite		A, B or C and A. HIRED	complete D, E, and F)	NO. 1 A. OFFEROR Merry Technology INC.			NO. 2 B. OFFEROR Luhr Bros. INC.			NO. 3 B. OFFEROR Choctaw Transportation CO. INC.		
	ne Placement Mississippi, Atchafala rs and Old River Control Channels				DNABLE CONTRACT ut Profit)	B. BID SECU 1618 S.	RITY (Type and Mead	amount)	B. BID SECURI P.O. Box 5	TY (Type and amoun 50	t)	B. BID SECURITY (Type and amount) P.O. Box 585		
6. NUMBI	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT		ENTS ACKNOW KS 67211	LEDGED	C. AMENDMEN Columbia,	TS ACKNOWLEDGE IL 62236	D	C. AMENDMENTS ACKNOWLEDGED Dyersburg, TN 38025		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	E. ESTIMA AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization and Demobilization	1	LS		141,000.00		300,0	00.00		100,000.0	00		25,000.00	
OPTION							-							
0002							-							
(Max 3 Each)	Subsequent Mobilization and Demobilization	3	LS		171,000.00		200,0	00.00		600.00			30,000.00	
0003	Grading and Earth Fill, Mississippi River, Atchafalaya						-							
	River, Red River, and Old River Control Channels	1,000	CY	9.45	9,450.00	27.00	27,0	00.00	28.00	28,000.0	0	10.00	10,000.00	
0004	Stone Upper Bank Paving, Atchafalaya River, Red River						-							
	And Outflow Channels	14,400	TON	34.70	499,680.00	27.00	388,8	300.00	37.00	532,800.0	00	32.00	460,800.00	
0005	Stone Upper Bank Paving, Mississippi River and													
	Inflow Channels	38,000	TON	36.55	1,388,900.00	27.00	1,026.	.000.00	35.00	1,330,000	.00	35.00	1,330,000.00	
0006	Stone Subaqueous Paving, Atchafalaya River, Red River						-							
	And Outflow Channels	51,500	TON	34.30	1,766,450.00	27.00	1,390,	500.00	32.00	1,648,000	.00	35.00	1,802,500.00	

501419-101

NOTE: If more than two offers are received, continue on OF 1419A.

OPTIONAL FORM 1419 (11-88) Prescribed by GSA - FAR (48 CFR) 53.236-1

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-08-B-0038			2. DATE ISS 15 Ma	ued y 2008	3. DATE OF 19 J	PENED un 2008	PAGE 0F	PAGES	-	
U S / P.O.	NG OFFICE ARMY ENGINEERS, DISTRICT NO BOX 60267 / ORLEANS, LA 70160-0267	D			ave opened, read, is abstract all	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE)					-		
	UNRES		eceived in re	esponse to this	SIGNATURE				DATE SIGNED)]		
5. PROJI	ECT TITLE				ENT ESTIMATE		9. OFFERS						
Flood Control, Mississippi River and Tributaries Indefinite Delivery-Indefinite Quantity Contract				A, B or C and	I complete D, E, and F)	NO. 1 A. OFFEROR Merry Technology INC.			NO. 2 B. OFFEROR Luhr Bros. INC.			NO. 3 B. OFFEROR Choctaw Transportation CO. INC.	
	one Placement Mississippi, Atchafal ers and Old River Control Channels				DNABLE CONTRACT ut Profit)	B. BID SECU 1618 S.	RITY (Type and Mead	amount)	B. BID SECURI P.O. Box	ITY (Type and am 50	iount)	B. BID SECURITY (Type and amount) P. O. Box 585	
6. NUMB	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT ing Profit)		ENTS ACKNOW KS 67211	LEDGED	C. AMENDMEN Columbia,	ITS ACKNOWLEI , IL 62236	DGED	C. AMENDMENTS ACKNOWLEDGED Dyersburg, TN 38025	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	F. ESTIMA AMOUNT		D. UNIT PRICE	E. ESTIMATE AMOUNT	ED	D. UNIT PRICE	E. ESTIMATED AMOUNT
0007	Stone Subaqueous Paving, Mississippi River and Inflow						-				-		
	Channels – 200 LB. Stone	5,000	TON	36.25	181,250.00	27.00	135,0	00.00	35.00	175,00	00.00	35.00	175,000.00
0008	Stone Subaqueous Paving, Mississippi River and Inflow						-				-		
	Channels Grade Stone "B"	5,000	TON	34.05	170,250,00	27.00	135,0	00.00	35.00	175,00	00.00	34.00	170,000.00
0009	Foreshore Dike Repairs, Southwest Pass, 36"						-				-		
	Gradation Stone	11,000	TON	53.80	591,800.00	27.00	297,0	00.00	47.00	517,00	00.00	46.00	506,000.00
0010	Stone Dike Paving, Atchafalaya River, Red River and Outflow						-				-		
	Channels – "Grade Stone B"	2,000	TON	32.65	65,300.00	27.00	54,0	00.00	34.00	68,00	0.00	30.00	60,000.00
0011	Stone Dike Paving, Atchafalaya River, Red River and Outflow						-				-		
	Channels – "Grade Stone C"	2,000	TON	35.55	71,100.00	27.00	54,0	00.00	34.00	68,00	0.00	30.00	60,000.00
0012	Stone Dike Paving, Mississippi River and Inflow						-				-		
	Channels – "Grade Stone B"	5,000	TON	34.35	171,750.00	27.00	135,0	00.00	34.00	170,00	00.00	34.00	170,000.00
	-01-150-0981 501419	101			ore than two offers are re				OPTIONAL FO	PM 1/10	(11-88)	1	1

NSN 7540-01-150-0981

501419-101

NOTE: If more than two offers are received, continue on OF 1419A.

OPTIONAL FORM 1419 (11-88) Prescribed by GSA - FAR (48 CFR) 53.236-1

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-08-B-0038			2. DATE ISS 15 Ma		DPENED Jun 2008	PAGE OF	GES			
P.O.	IG OFFICE IRMY ENGINEERS, DISTRICT NO BOX 60267 V ORLEANS, LA 70160-0267	D			ave opened, read, is abstract all	NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE)							
	UNRES		eceived in re	esponse to this	SIGNATURE			DATE SIGNED					
5. PROJE	CT TITLE	8. GOVERNMENT ESTIMATE (Check A, B or C and complete D, E, and F)				9. NO. 1	OFFERS	NO. 2		NO. 3			
	ontrol, Mississippi River and Tributa Indefinite Quantity Contract	ries Indefinite		A. HIRED		A. OFFEROF Merry T		B. OFFEROR Luhr Bros			B. OFFEROR Choctaw Transportation CO. INC.		
Red Rive	ne Placement Mississippi, Atchafal ers and Old River Control Channels				DNABLE CONTRACT ut Profit)	1618 S.		P.O. Box		P.O. Box	B. BID SECURITY (Type and amount) P.O. Box 585		
6. NUMB	ER OF AMENDMENTS ISSUED 0004				DNABLE CONTRACT		ENTS ACKNOWLEDGED KS 67211	C. AMENDMEN Olumbia,	ITS ACKNOWLEDGED		nts acknowledged rg, TN 38025		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	G. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT		
0013	Stone Dike Paving, Mississippi River and Inflow Channels -												
	"Grade Stone C"	68,000	TON	37.15	2,526,200.00	27.00	1,836,000.00	32.00	2,176,000.00	33.00	2,244,000.00		
0014	Stone Repairs, Atchafalaya River, Red River and												
	Outflow Channels	5,000	TON	34.75	173,750.00	27.00	135,000.00	37.00	185,000.00	33.00	165,000.00		
0015	Stone Repairs, Mississippi River and Inflow Channels	21,000	TON	36.50	766,500.00	27.00	567,000.00	35.00	735,000.00	35.00	735,000.00		
0016	Stone Key Construction, Atchafalaya River	100	LF	23.30	2,330.00	200.00	20,000.00	128.00	12,800.00	100.00	10,000.00		
0017	Stone Key Construction, Mississippi River	100	LF	23.30	2,330.00	200.00	20,000.00	128.00	12,800.00	100.00	10,000.00		
0018	Hog Point Channel Contraction Works Repair, Mississippi												
	River (Miles 300.4 to 297.4 AHP), "A" Stone	2,000	TON	25.80	51,600.00	27.00	54,000.00	32.00	64,000.00	27.00	54,000.00		
		TOTAL			\$8,750,640.00		\$6,774,300.00		\$7,998,000.00)	\$8,017,300.00		
NSN 7540	-01-150-0981 501419	9-101		NOTE: If mo	ore than two offers are re	ceived, continue	e on OF 1419A.	OPTIONAL FO	RM 1419 (11 SA - FAR (48 CFR) 53.	-88)			